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.SUBCKT prB AIN AQUT VH VL VM

M1 N2 AIN GND GND pch L=0.5u W=15u M=150
M2 N2 VL Vss Vss nch L=3u W=3u M=51

M3 AQUT VM N2 Vss nch L=1u W=3.u M=1

M4 AOUT VM N1 Vdd pch L=1u W=3.u M=1

M5 N1 VH Vdd Vdd pch L=3u W=3.u M=1
.ENDS

.SUBCKT prC AIN AOUT VH VL VM

M1 N2 AIN GND GND pch L=0.5u W=8u M=100
M2 N2 VL Vss Vss nch L=3u W=3u M=11

M3 AOUT VM N2 Vss nch L=1u W=3.u M=1

M4 AQUT VM N1 Vdd pch L=1u W=3.u M=1

M5 N1 VH Vdd Vdd pch L=3u W=3.u M=1
.ENDS

.SUBCKT prD AIN AOUT VH VL VM

M1 N7 AIN GND GND pch L=0.5u W=3u M=25
M2 N7 VL VSS VSS nch L=3u W=3u M=11
M3 AOUT VM N7 VSS nch L=1u W=3.u M=1
M4 AQUT VM N13 VDD pch L=1u W=3.u M=1
M5 N13 VH VDD VDD pch L=3u W=3.u M=1
.ENDS

.SUBCKT prC2 AIN AOUT VH VL VM

M1 N1 AIN GND GND pch L=0.5u W=8u M=100
M2 N1 VL VSS VSS nch L=3u W=3u M=11

M3 AQUT N2 N1 VSS nch L=1u W=3.u M=1

M4 AQUT VM N3 VDD pch L=1u W=3.u M=1

M5 N3 VH VDD VDD pch L=3u W=3.u M=1

M6 N2 N1 GND GND pch L=1u W=3u M=1

M7 N2 VL VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT prE AIN AOUT VH VM

M1 N4 AIN VSS VSS nch L=0.5u W=8u M=100
M2 AQOUT VM N4 VSS nch L=1u W=3u M=1

M3 AOUT VM N3 VDD pch L=1u W=3.u M=1

M4 N3 VH VDD VDD pch L=3u W=3.u M=1

M5 N2 VH VDD VDD pch L=3u W=3.u M=9

M6 N4 VM N2 VDD pch L=1u W=3.u M=9

.ENDS
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.SUBCKT prE2 AIN AOUT VH VHS VM

C1 N1 VSS 0.2pF

M2 N3 AIN VSS VSS nch L=0.5u W=8u M=100
M3 AQUT N1 N3 VSS nch L=1u W=3u M=1
M4 AQUT VM N5 VDD pch L=1u W=3.u M=1
M5 N5 VH VDD VDD pch L=3u W=3.u M=1
M6 N1 N3 VSS VSS nch L=1u W=1.2u M=1
M7 N2 VH VDD VDD pch L=3u W=3.u M=9
M8 N3 VM N2 VDD pch L=1u W=3.u M=9

M9 N6 VHS VDD VDD pch L=3u W=3u M=1
M10 N1 VM N6 VDD pch L=1u W=3u M=1
.ENDS

.SUBCKT prF AIN AQOUT VH VL VM

M1 N4 AIN Vss Vss nch L=0.5u W=8u M=100
M2 N3 VH VDD VDD pch L=3u W=3.u M=11

M3 N1 VL Vss Vss nch L=1u W=3u M=1

M4 AQUT VM N1 Vss nch L=1u W=3u M=1

M5 N3 VM N4 Vss nch L=1u W=3u M=10

M6 AQUT VM N3 VDD pch L=1u W=3.u M=1
.ENDS
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* Main circuit: TESTPRC2

XBIAS_1 N1 VH VL VM Gnd BIAS

XBIAS_2 N8 N17 N6 N5 Gnd BIAS

C1 N4 AOUT2 0.1p

C2 TP N4 0.1p

.op

XFB1_1 N4 N17 AOUT2 VM N6 N5 FB1

.global VSS VDD

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC2_1 N4 AOUT2 VH VL VM prC2

i3 VDD N1 100uA

i4 VDD N8 10n

v5 TP Gnd pulse(0 -50m 1u 10n 10n 100u 200u)
.tran 5n 20u

.print tran v(TP) v(AOUT2)

* End of main circuit: TESTPRC2

126



B PrDOOOOOOOODOOOODOO

o
i
(=)
ds||
1
- JIt
g
o —{lgs AnPrD
Vid [ —e Vo X Vi
POVER i
Vss o>
out put
_2 1 obal
& FBl
VW WH
VDD VDD
| =10uh =108
(D] =" ()] o
< oM <
N, et Ny

0 10: PP DO0OODOOOOODOODOOOOO

* Main circuit: TESTPRD

XBIAS_1 N48 VH VL VM Gnd BIAS

XBIAS_2 N8 N29 N6 N5 Gnd BIAS

C1 N34 AOUT2 0.1p

C2 TP N34 0.1p

.op

XFB1_1 N34 N29 AOUT1 VM N6 N5 FB1

.global VSS VDD

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprD_1 N34 AQUT2 VH VL VM prD

i3 VDD N48 10uA

i4 VDD N8 10n

v5 TP Gnd pulse(0 50m 1u 10n 10n 100u 200u)
.tran 5n 20u

.print tran v(TP) v(AOUT1)

* End of main circuit: TESTPRD
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* Main circuit: TESTPRE2
XBIAS_1 N11 VH VL VM Gnd BIAS
XBIAS_2 N5 N3 N4 N2 Gnd BIAS
XBIAS_3 N7 N1 N10 N9 Gnd BIAS
C1 N8 AQUT2 0.2p

C2 TP N8 0.2p

.op

XFB1_1 N8 N3 AOUT2 VM N4 N2 FB1
.global VSS VDD

.options reltol=1.e-9 abstol=1.e-18 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprE2_1 N8 AOUT2 VH N1 VM prE2

i3 VDD N11 100uA

i4 VDD N5 10n

i5 VDD N7 2u

v6 TP Gnd pulse(0 20m 1u 1n 1n 100u 200u)

.tran 1n 10u

.print tran v(TP) v(AOUT2)

* End of main circuit: TESTPRE2
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